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Divide Money

Find $6.95 = 5.
Divide the dollars. Divide the dimes. Divide the pennies.
Place the
1 13 $1.39 dollar
i =5l -5l the
1 19 19 )
—15 154 decimal
T4 45 point in
—45 the
0 quotient.
Estimate. Then divide.
1. 35$6.42 2. 25$5.32 3. 55$3.80 4, 35$8.34
5. 4)$5.40 6. 7)$9.73 7. 2)$5.38 8. 6)$7.68
9. 3)$1.32 10. 2)$6.58 11. 5)$85 12. 4)$6.12
13. 2)$0.98 14. 3)$1.65 15. 4)$0.56 16. 5)$9.85
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Divide Money

Solve.

1.

At the grocery store, Jack bought 3
boxes of cereal for $9.96. If each box
cost the same amount, how much did
each box of cereal cost?

Heidi bought a bag of oranges for
$4.69. There were 7 oranges in the
bag. How much did each orange cost?

A 5-Ib bag of potatoes costs $5.65.
What is the price per pound for the
potatoes?

Multistep Gus bought 8 cans of cat
food and a cat toy for $8.73. The cat
toy cost $2.49. How much did each
can of cat food cost?

You Decide Which store has the better
deal? Explain.

Show your work.

Toys and Everything

8 stickers for $2.32

Sticker Mania

6 stickers for $1.62
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